2y (t) = —((0.06 * z1(t) * (1 — exp(d x 5(t)))) — (0.05 * z3(t) * (exp(d * x5(t)))))—
—((0.5 % z1(t) * (exp(d *x x5(t))) * (0.3 + zs(t))) * AE — (0.1 x xo(t) % (1 — exp((d x5 (€)))));
)

xh(t) = (((0.5 % w1 (t) * (exp(d x x5(t))) * (0.3 + 26(t))) x AE—
—(0.1 % 22(t) * (1 — exp(d * 25(t))))) + (0.8 x 23(t) * (exp(d * w5(t))) * (0.3 + 26(t))—

—(0-4 5 2(t) * (1 — exp(d + 25())*)))) — (w2(t) * (26(t) —124(;))));
2

x5 (t) = ((0.06 x 21 () * (1 — exp(d * x5(t)))) — (0.05 x x3(t) * (exp(d x x5(t)))))—
2

—(0.8 % w3(t) * (exp(d  x5(t))) * (0.3 4 w6(t)) — (0.4 z2(t) * (1 — exp(d * x5(£))?))));
3)

2y (t) = (za(t) * (x6(t) — 24(t))); (4)

if((w5(t)/LCC) < 1) = = — a5(t) = w5(t) * (GU — (x5(t)/LCC));

else — — — a5 (t) = 5(t) * (1 — (x5(t)/LCC)); )

xg(t) = 0.2 x ((wg (t-5%delta t) + 0.5 x x4 (t-5%delta t)) * (exp(d * x5 (t-5%delta t)))) * (1 — x(t)) * (1 — 27 (1)) x AE—
—((0.1 +1 — exp(d* x5(t))) * (0.1 + z7(¢)) * z6(t) x 0.2)
(6)

xh(t) = ((we (t-10*delta t) * (exp(d * x5 (t-10%delta t))))) * (1 — x7(¢)) * 0.1 * /(117;' — (z7(t) x 0.005)
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